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SCIENCE

SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words
the questions of 3 marks and answer in about 150 words the questions of 5
marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.

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SCIENCE

Write down the correct choice answer with question number from the given
four options.

CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–I
GROUP-A
PHYSICS

1. 1
What is real image ?

2. 1
Which type of spectrum is rainbow ?

3. 1
Where is used Ammeter in electric circuit ?

4. 1
Which alloy is used for making wire of electric heater ?

5. 1
Write name of a source of Direct current.

6. 2
What do you mean by electric potential ?

7. 2
Why is used red colour of light in railway signal ?

8. 3
What is difference in Alternating current and Direct current ?

9. 3
What is short sightendness or Myopia ? Which lens is used to remove its error.

10. 5
Sketch neat ray diagram of image formed by concave mirror.
(a)  When object is kept at infinity.
(b)  When object is kept between infinity
and centre of curvature.
(c)  When object is kept at centre of curvature.

CHEMISTRY
11. 1

In which law is satified by balance chemical equation.
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12. 1
What is the chemical formula of plaster of peris ?

13. 1
What is called process of coating iron with zinc ?

14. 1
How many electrons in the outer most shell of carbon ?

15. (Na) 1
What is the Atomic number of Na ?

16. 2
What  is oxidising agent ?

17. 2
What is neutralisation reaction ? Give two examples.

18. 3
What were the criteria used by mendeleevs in creating his periodic table ?

19. 3
What is the balanced chemical equation ? Why should chemical equations be
balanced ?

20.
What is hydrocarbon ? Differentiate between a satured & an unsaturated hydrocarbon
?

BIOLOGY
21. 1

What is fermentation ?
22. 1

What is the function of platelets in blood ?
23. 1

Write the name of two components of ecosystem.
24. 1

Write the method of reproduction in hydra.
25. 1

Write the name of fruit ripening hormone.
26. ( ) 2

What is Ozone ? What happened if it is diplited ?
27. 2

What is respiration ? Show this process by chemical equation.
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SCIENCE

28. 3
What are different path in different organisation obtaining energy from
oxidation of glucose ?

29. 3
What is tissue culture ? Write in brief.

30. 5
What do you mean by sex chromosome ? Explain sex-determination method in human
being.

Draw well labelled diagram of digestive system of human being.
31.

(GROUP-B)

PHYSICS
(i) 1

(A) 0º (B) 45º
(C) 90º (D) 135º
A ray of light incident perpendicularly (r) on plane mirror. What will be
measure of angle of reflection ?
(A) 0º (B) 45º
(C) 90º (D) 135º

(ii) 1
(A) 1 (B) 1 
(C) 1 (D)
The real absolute refractive index of air is—
(A) equal to 1 (B) less than 1
(C) greater than 1 (D) zero

(iii) 1
(A) 25 (B) 25 
(C) 2.5 (D)
Minium distance for clear picture is—
(A) 25 cm (B) 25 m
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(C) 2.5 cm (D) 
(iv) (V) C = J = A = 1

(A) C/J (B) J/C
(C) J/A (D) A/J
Volt (v) is equal to which of the followings, where C = Coloumb, J = Jule,
A = Ampere.
(A) C/J (B) J/C
(C) J/A (D) A/J

(v) 1
(A) (B)
(C) (D)
Who inverted “Magnetic effect of electric current”
(A) Farade (B) Oersted
(C) Ampere (D) Bohr

(vi) 1
(A) 220 V (B) 12 V
(C) 220 V (D) 12 V 
Electric supply in house is of—
(A) 220 D.C. (B) 12 V D.C.
(C) 220 V A.C. (D) 12 V A.C.

(vii) 1
(A) 1 (B) 2
(C) 8 (D) 4
How many principal focus are in lens
(A) 1 (B) 2
(C) 8 (D) 4

CHEMISTRY
(viii)

1
(A) (B)
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(C) (D)
The alloy of copper and zinc is called ?
(A) Brass (B) Bronze
(C) Solder (D) Steel

(ix) pH 1
(A) 7 (B) 7 
(C) 7 (D)
What is the pH value of acidic solution ?
(A) More than 7 (B) Equal to 7
(C) Less than 7 (D) None of these

(x) 1
(A) C nH 2n+4 (B) C nH 2n
(C) C nH 2n+2 (D) C nH 2n–2
The general formula of alkane is ?
(A) C nH 2n+4 (B) C nH 2n
(C) C nH 2n+2 (D) C nH 2n–2

(xi) 1
(A) Ca (B) Br
(C) He (D) Li
Which of the following is an element of group zero ?
(A) Ca (B) Br
(C) He (D) Li

(xii) 1
(A) 2 (B) 4
(C) 6 (D) 12
What is the valency of Carbon ?
(A) 2 (B) 4
(C) 6 (D) 12

(xiii) 1
(A) IVth (B) Vth
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(C) VIth (D) VIIth
In which period has maximum number of element ?
(A) IVth (B) Vth
(C) VIth (D) VIIth

(xiv) –CHO 
1
(A) (B)
(C) (D)
–CHO functional group is called ?
(A) Ketone (B) Aldehyde
(C) Acid (D) Ether

BIOLOGY
(xv) 1

(A) (B)
(C) (D)
In ecosystem flow of energy is
(A) Unidirectional (B) Bidirectional
(C) Multidirectional (D) All

(xvi) 1
(A) (B)
(C) (D)
Plant waste material stored in
(A) Leaves (B) Bark
(C) Cellular vacuoles (D) all of above

(xvii) 1
(A) (B)
(C) (D)
According to evolutional view we are more similar to
(A) Students of China (B) Chimpanese
(C) Spider (D) Bacteria
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SCIENCE

(xviii) —
1
(A) (B)
(C) (D)
Blood vessels which carry pure or oxigenated blood from heart to different
body parts are called as—
(A) Artaries (B) Veins
(C) auricle (D) ventricle

(xix) 1
(A) (B)
(C) (D)
Male and female gamete combine to form—
(A) Zygote (B) Ovum
(C) Sperm (D) Seed

(xx) —
1
(A) (B)
(C) (D)
In human being inhaling and exhaling phenomenon is called as—
(A) Respiration (B) Breathing
(C) Nutrition (D) Excertion
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 ANSWERS
GROUP : A

1.

2.
3.
4.
5.
6.

7.
8. —

 
1.  1.  
2.  2.  
3.  3.  
 9.
10. (a)

P

M

N
F C

(b)

P

M

N
F C

A

B
O

(c)

P

M

N
F C

A

B
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SCIENCE

11. (Mass conservation law)
12. 4 2

1s 2Ca O H O
13. (Galvanisation)
14. 4(Four)
15. 11 (Eleven)
16. — (KMnO4), (K2Cr2O7)
17.

Ex—NaOH (aq) + HCl (aq) NaCl (aq) + H2O (l)
18. (i)

(ii)
(iii)

19.

20. —CH4, C2H6

 
1.  1.  
2.  2.  
3. 

 
3. 

 
 21. CO2 

22. (Blood clotting) 
23.
24.
25.
26. 15km 50km 

(mutation) 
27.

—
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6 12 6 2 2 26 6 6 ( )C H O O CO H O ATP   
28. —

+

+ CO  +2

 +

CO2 + H O +2

29.
(Callus) 

30. 23 22 X Y 
X Y X

X X
X Y 

XX XX XY XY

X Y X X

44+XY
44+XX

‘X’ ‘Y’ 
50% 50% 50 : 50 
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SCIENCE

GROUP : B
31. (i) (C) (ii) (C) (iii) (A) (iv) (B) (v) (B) (vi) (C) (vii) (B)(viii) (A) (ix) (C) (x) (C)

(xi) (C) (xii) (B) (xiii) (C) (xiv) (B)(xv) (A) (xvi) (D)(xvii) (B)(xviii)(A) (xix) (A) (xx) (B)
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SCIENCE

SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice Anser with question number from the given four options.
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SCIENCE

CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–II
GROUP-A
PHYSICS

1. 1
What is velocity of light in vaccum ?

2. 1
What type of image is formed by convex mirror ?

3. 1
How many laws of refraction ?

4. 1
What type of current generated through battery ?

5. S.I. 1
What is unit of electric power ?

6. 2
Why stars are twinkling?

7. 2
Make list of Magnetic field lines.

8. 3
What is reflection of light ? Write its laws.

9. 3
What is symbol of three components generally utilized in electric circuit.

10. 5
Describe with principle of an electric motor.

CHEMISTRY
11. 1

Name the bond formed between two hydrogen atoms.
12. 1

Write down the molecular formula of ‘Plaster of paris.’
13. 1

Na + O2 Na2O
Balance the following chemica equation
Na + O2 Na2O
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SCIENCE

14. 1
Write the name of an inert gas.

15. 1
Define amphoteric oxide.

16. 2
Write two difference between acid and base.

17. 2
What is covalent bond ? Give two example.

18. 13, 14 15 3
Write the name of the element and valency having atomic number 13, 14 and 15.

19. 3
What is oxidation and reduction reaction ? Give one example to each.

20.
Write the name of two ores of copper. Also write in details the extraction of copper from its ores in different
steps.

BIOLOGY
21. 1

Write down the name of endocine gland which secrete growth hormone.
22. DNA 1

Write full form of DNA.
23. (blood) 1

Which pigment is responsible for red colour of blood.
24. ( ) ( ) 1

During respiration complete breakdown of glucose take place in which cell organelle.
25. 1

Write any two non-biodegradable materials.
26. ( ) 2

What are necessary components for photosynthesis ?
27. 2

Write down the organs of excretory system.
28. ( ) 3

Write differences between blood and lymph.
29. 3

What is transpiration ? What are its advantages in plants ?
30. 5
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SCIENCE

Write different type of asexual reproduction with diagram.
31.

(GROUP-B)

PHYSICS
(i) 1

(A) (B)
(C) (D)
How many images can be originate from object kept between two parallel plane mirror ?
(A) one (B) two
(C) four (D) infinty

(ii) 25cm 1
(A) 50 cm (B) 25 cm
(C) 75 cm (D)
If the distance from pole to focus of any concave mirror is 25 cm, what will be distance of focus to centre
of curvature ?
(A) 50 cm (B) 25 cm
(C) 75 cm (D) None of these

(iii) 2.4 1
(A) 7.2 × 108 m/s (B) 3 × 108 m/s
(C) 0.8 × 108 m/s (D) 1.2 × 108 m/s
The Refractive index of diamond is 2.4. What will be speed of light in diamond.
(A) 7.2 × 108 m/s (B) 3 × 108 m/s
(C) 0.8 × 108 m/s (D) 1.2 × 108 m/s

(iv) SI 1
(A) cm (B) cm–1
(C) m–1 (D) m
SI Unit of power of lens is
(A) cm (B) cm–1
(C) m–1 (D) m
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SCIENCE

(v) 1
(A) (B)
(C) (D)
A astronaut standing on moon seems sky
(A) Blue (B) White
(C) Red (D) Black

(vi) 1
(A) (B)
(C) (D)
Which is used to measure strength of electric current.
(A) Ammeter (B) Voltameter
(C) Voltmeter (D) None of these

(vii) 1
(A) (B)
(C) (D)
Which material rod is generally used for making electromagnet ?
(A) Soft iron (B) Brass
(C) Hard Iron (D) none of these

CHEMISTRY
(viii) 1

(A) (B)
(C) (D)
Which non-metal is gold conductor of electricity ?
(A) Sulphur (B) Graphite
(C) Chlorine (D) Phosphorus

(ix) 1
(A) (B)
(C) (D)
In the periodic table when we go down the group the metallic character of element
(A) does not change (B) decreases
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SCIENCE

(C) increases (D) None of these
(x) –COOH 1

(A) (B)
(C) (D)
–COOH functional group is called
(A) Ketone (B) aldehyde
(C) acid (D) alcohol

(xi) 1
(A) (B)
(C) (D)
What type of element is Helium ?
(A) Inactive (B) Reactive
(C) Active (D) Neutral

(xii) 1
(A) (B)
(C) (D)
How many groups are there in peroidic table ?
(A) Seven (B) Nine
(C) Eight (D) Eighteen

(xiii) pH 1
(A) 5 (B) 7
(C) 8 (D) 3
What is the pH value of water ?
(A) 5 (B) 7
(C) 8 (D) 3

(xiv) 1
(A) (B)
(C) (D)
The removal of oxygen from a substance is called—
(A) Oxidation (B) reduction
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(C) Corrosion (D) none of these
BIOLOGY

(xv) 1
(A) (B)
(C) (D)
In forest ecosystem decrease—
(A) Producer (B) Primary consumers
(C) Secondary consumer (D) Teriary consumers

(xvi) 1
(A) (B)
(C) (D)
In our body different biological functions are controlled by
(A) By nerves (B) By chemicals
(C) By nerves and chemicals (D) None of these

(xvii) 1
(A) CO2 (B) C O
(C) NH 3 (D)
Which compound formed after breakdown of amino acid
(A) CO2 (B) C O
(C) NH 3 (D) both ‘b’ and ‘c’

(xviii) 1
(A) (B)
(C) (D)
Contraction of heart is called—
(A) Systole (B) Diastole
(C) Heart beat (D) Continuous contraction

(xix) 1
(A) (B)
(C) (D)
By which amoeba ingest its food—



20 SCIENCE :  CLASS-X

SCIENCE

(A) Pseudopodia (B) Transporation
(C) Food vacuoles (D) Nucleus

(xx) 1
(A) (B)
(C) (D)
Disease caused by iodine deficiency—
(A) Diabities (B) Heart attack
(C) Beri-beri (D) Goitre
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SCIENCE

 ANSWERS
GROUP : A

1. 3 × 108 m/s
2.
3.
4.
5.
6.

7. ( )
( )
( )

8.
—

(i)
(ii)

9. (i) –+
(ii)
(iii) + A

10.
R1 R2 B1 B2 

R2

B2+
R1

B1
S

N
C
BA

D

AB CD 

CD AB 
D.C.
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SCIENCE

11. 0 = 0
12. 4 2

1s 2Ca O H O
13. 4 Na + O2  2Na2 O
14. Ne 
15. —

16.
 

1.  1.  
2. H+  –HCl, H2SO4 2. OH–   –NaOH, KOH
 

17.
—CH4, CO2

18. 13
—

Al—2, 8.,3
—3
—14

—
P—2, 8, 4

—4
—15

—P
P-2, 8, 5 8-5 = 3

19. —

—C(s) + O2 (g) CO2 (g)
—

—CuO (s) + H (g) Cu (g) + H2O (l)
20. —(i) (CuFeS2) (ii) (Cu2O)

—
(i) —
(ii) — (Roasting) 

2CuFeS2 + 5O2 Cu2S + 2FeS + 5O2
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SCIENCE

(iii) —
2FeS + 3O2 2FeO + 2SO2
FeO + SiO2 FeSiO3

(iv) — Cu2S Cu2O Cu2O, Cu2S Cu 
2Cu2O + Cu2S 6Cu + SO2 

21. (Pitutary gland)
22. DNA 
23. (blood) 
24.
25.
26. —

(i)  (ii) (iii) (iv) 
27. —

(i) (ii) (iii) (iv) 
28. —

( )  
1.  1.  
2. ( )  2.  

3. (bidirectional)  3. (unidirectional)  
 29. (stomata) 

(transpiration) 

30. —
1. (Fission)— —(a) (b) 
(a) (Binary fission)—

— etc.

(b) —
— etc.
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2. (Budding)—

3. (Fragmentation or regeneration)—
—

4. (Vegetative Propagation)—
(Vegetative part) 

—
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SCIENCE

GROUP : B
31. (i) (D)(ii) (B) (iii)(D) (iv) (C)(v) (D)(vi)(A)(vii) (A) (viii) (B)

(ix) (C) (x)(C)
(xi) (A) (xii)(D)(xiii) (B)(xiv) (B) (xv)(B)(xvi)(C)(xvii)(C) (xviii)
(B) (xix)(A) (xx) (D)





26 SCIENCE :  CLASS-X
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SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–III
GROUP-A
PHYSICS

1. 1
Which type of lens is used in simple microscope ?

2. S.I. 1
What is the S.I. unit of electric resistivity ?

3. 1
What is armature?

4. 1
What is spherical mirror ?

5. (aperture) 1
What do you say about aperture of lens ?

6. 2
Why the sun looks florid at the time of sunrise and sunset ?

7. 2
Write the Fleming's left hand rule.

8. 3
Where we kept an object in front of concave mirror, so that the image is formed of same size ? Show with ray-
diagram.

9. 2m 3
Find the power of concave lens of 2 m focal length.

10. 5
What is Ohm's law ? Describe with an experiment for its proof.

CHEMISTRY
11. pH 1

What is the pH value of neutral solution ?
12. 1

Write the name of one allotropes of carbon.
13. CH3Cl IUPAC 1

What is the I.U.P.A.C. name of CH3Cl ?
14. 1
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How many column in modern Periodic table ?
15. 1

Write the chemical name and formula of salt.
16. 2

(i) (ii)
Write the structural formula of the following compound.
(i) Proponal (ii) Ethane

17. 2
Write the one equation for plaster of parts react with water ?

18. 3
What is homologus series ? Write with an example.

19. Cl 3
Define isotope. Write the name of two isotobe of Cl.

20.
Write the main ores of zinc ? Define the extraction of zinc from it ores ?

BIOLOGY
21. 1

Write one main reason for casual of high blood pressure.
22. 1

What is synapse ?
23. 1

Write the name of enzyme which present in Saliva.
24. 1

By which life process living things take energy.
25. 1

Write one plant hormone name which help in plant growth.
26. 2

Write name of any four endocrine gland.
27. ‘R’ 2

What are three ‘R’ for environment saving ?
28. 3

What is sexual reproduction ? Write its specific features.
29. 3

Write difference between antery and vein.
30. 5
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Explain fertilization process in flowers by well labelled diagram.
31.

(GROUP-B)

PHYSICS
(i) — 1

(A) (B)
(C) (D)
The nature of image is—
(A) Erect (B) inverted
(C) Erect and inverted (D) None of these

(ii) — 1
(A) sin

sin
i
r (B) sin

sin
r
i

(C) sini × sinr (D) sini ÷ sinr
The refractive index of any medium is—
(A) sin

sin
i
r (B) sin

sin
r
i

(C) sini × sinr (D) sini ÷ sinr
(iii) 1

(A) (B)
(C) (D)
Which is used for obtaining spectrum ?
(A) Convex mirror (B) Glass slab
(C) Concave lens (D) Prism

(iv) — 1
(A) (B)
(C) (D)
The resistance of a conductor depends on—
(A) length of conductor (B) cross-section area of conductor
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(C) nature of conductor (D) on all of these
(v) 1

(A) (B)
(C) (D)
Which lens is used for the treatment of far sightedness—
(A) concave lens (B) cylinderical lens
(C) convex lens (D) none of these

(vi) — 1
(A) (B)
(C) (D)
The suitable material to make electromagnet is—
(A) steel (B) soft iron
(C) nickel (D) None of these

(vii) 10 20 — 1

(A) 20 (B) 20
3 

(C) 30 (D) 10
The equivalent resistance of two resistance 10and 20in series combination is—
(A) 20 (B) 20

3 
(C) 30 (D) 10

CHEMISTRY
(viii) 1

(A) H 2 (B) C O
(C) O 2 (D) H2S
Which of the following is reducing agent ?
(A) H 2 (B) C O
(C) O 2 (D) H2S

(ix) 1
(A) (B)
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(C) (D)
In which type of reaction in corrosion ?
(A) Reduction (B) Precipitation
(C) Combination (D) Oxidation

(x) 1
(A) HCl (B) HNO 3
(C) H2SO4 (D) CH 3COOH
Which of the following is weak acid ?
(A) HCl (B) HNO 3
(C) H2SO4 (D) CH 3COOH

(xi) 1
(A) Cu (B) Ag
(C) Fe (D) Zn
Which of the following metal is react with both acid and base.
(A) Cu (B) Ag
(C) Fe (D) Zn

(xii) 1
(A) (B)
(C) (D)
Which of the following ore is copper ?
(A) Cuprite (B) Boxite
(C) Cinebar (D) Calamine

(xiii) 1
(A) (B)
(C) (D)
What is carbon ?
(A) Metal (B) Non metal
(C) Metaloid (D) None of these

(xiv) 1
(A) 1 (B) 2
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(C) 3 (D) 4
How many electron in outer most orbit of He atom ?
(A) 1 (B) 2
(C) 3 (D) 4

BIOLOGY
(xv) 1

(A) (B) CO2
(C) (D)
Oxygen released in photosynthesis comes from
(A) water (B) CO 2
(C) glucose (D) starch

(xvi) 1

(A) 100
120 (B) 120

80

(C) 80
120 (D) 120

100
The normal blood pressure of humans is

(A) 100
120 (B) 120

80

(C) 80
120 (D) 120

100
(xvii) 1

(A) (B)
(C) (D)
Nephrons are the structural and functional unif of
(A) Mitochondria (B) Cytoplasm
(C) Chloroplast (D) Nucleus

(xviii) 1
(A) (B)
(C) (D)
Centraction of heart is called—
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(A) Heart (B) Kidney
(C) Lungs (D) None of these

(xix) 1
(A) (B)
(C) (D)
Main function of stomata is—
(A) Photosynthesis (B) Transportation
(C) Nutrition (D) Exchange of gases and transpiration

(xx) 1
(A) (B)
(C) (D)
Which one is asexual reproduction method.
(A) Fission (B) budding
(C) binary fission (D) Above all.
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GROUP : A
1.
2. (m)
3.
4.
5.
6.

7.

8.
C F P

A

B

9. —
f = – 2m

   1P f

                     1 –0.52 D 
= – 0.5 D

10. —

I V 
V I, 

 ANSWERS
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 V = IR, R ( ) 
VI R

V

RP Q 

K

A
( )

R (V) 

K A I 
V PQ P Q V 

V
I

V
I

(V) X- (I) Y- V I 

(V)

(I)

I, V 
11. 7 (seven)
12. (Diamond)
13.  (Methyl chloride)
14. 18 (Eighteen)
15.  (NaCl)
16. (i) Propanol—C3H7OH (ii) Ethene—C2H4



36 SCIENCE :  CLASS-X

SCIENCE

H
H
C
H

H H
C C
H H

O H
H

C
H

C
H

H
17.

4 2 2 4 2
1 11 22 2CaSO H O H O CaSO H O   

18.
—CH4 C2H6 CH4 C2H6, C3H8 –CH2–

19.
: Cl-35 Cl-37

20. (ZnS) (ZnCO3)

2 22 ( ) 3 ( ) 2 ( ) 2 ( )ZnS s O g ZnO s SO g  
3 2( ) ( )ZnCO ZnO s CO g 

( ) ( ) ( ) ( )ZnO s C s Zn s Co g  

21.
22.
23.
24.
25.
26.
27. ‘R’ —

Reduce ( ) Recycle ( ) Reuse ( )
28.

(a)
(b)
(c)

29. —
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1. 

 
1. 

 
2.  2.  

3.  3.  
 30.

GROUP : B
31. (i) (B) (ii) (A) (iii) (D) (iv) (D) (v) (C) (vi) (B) (vii) (C)(viii) (A) (ix) (D) (x) (D)

(xi) (D) (xii) (A)(xiii) (B) (xiv) (B)(xv) (A) (xvi) (B)(xvii) (A)(xviii)(B) (xix) (D) (xx) (D)
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SCIENCE

SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words
the questions of 3 marks and answer in about 150 words the questions of 5
marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.

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SCIENCE

Write down the correct choice answer with question number from the given
four options.

CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–IV
GROUP-A
PHYSICS

1. S.I. 1
What is S.I. unit of resistivity ?

2. 1
Electric heater works on which effect of electric current ?

3. 1
Which lens form real and virtual image both ?

4. 1
What degree is vision area of two eyes for vision ?

5. 1
What is magnification of plane mirror ?

6. 2
Draw ray diagram of image of object kept on centre of curvature of convex lens.

7. 2
Define Ampere.

8. +1.5D 3
The power of lens is + 1.5D. Find focal length.

9. 3
Compare Ameter and voltmeter.

10. 5
Describe Oersted experiment.

CHEMISTRY
11. 1

Write the molecular formula of slaked lime.
12. 1

When white colour of silver chloride exposed to light than changes into which
colour ?

13. 1
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Write the name of one natural indicator for the test of acid and base ?
14. 1

Write the name of one liquid non-metal.
15. 1

How many elements in second period ?
16.

What is Redox reaction ? Give one example.
17. pH PH 2

What is PH scale ? Write the PH value of blood.
18. IUPAC — 3

Write IUPAC name of the following

(i) H
H
C
H

H H
C C
H H

Cl

(ii) H
H
C O

(iii) C
H

H
H

H
C
H

H
C

19. 3
How modern periodic table is better than Mendeleev's periodic table. Give
three reasions.

20.
What is Corrosion ? Give one example of it. Also give three methods for
preventing corrosion.

BIOLOGY
21. 1

Which element is necessary for the synthesis of thyroxine ?
22. 1

Fish respires by which respiratory organ ?
23. 1

Which chemical is responsible for depletion of ozone layer ?
24. 1

Who gave ‘Origin of species by Natural selection’ ?
25. 1

Give one example for chemotopism in plants.
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26. 2
Name the hormone secreted by pancreas and write its function.

27. 2
Write any two problems caused by large dam.

28. 3
What is pollination ? Explain self pollination and cross pollination with
example.

29. 3
By an experiment show that chlorophyll is necessary for photosynthesis.

30. 5
Draw a well labelled diagram of nephron.

31.
(GROUP-B)

PHYSICS
(i) — 1

(A) (B)
(C) (D)
Electric motor converts
(A) mechanical energy into electrical energy (B)
Electrical energy into mechanical energy
(C) Chemical energy into electrical energy (D)
Electrical energy into chemical energy

(ii) 1
(A) (B)
(C) (D)
Live wire is generally
(A) of green colour (B) of red colour
(C) of black colour (D) of light colour

(iii)
1

(A) (B)
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(C) (D)
Which element is used in filament of electric bulb ?
(A) Tungsten (B) Copper
(C) Nicrome (D) Zink

(iv) 1
(A) (B)
(C) (D)
Walt-hour is unit
(A) of charge (B) of current
(C) of power (D) of energy

(v) 1
(A) 6 (B) 4
(C) 5 (D) 3
How many faces of a simple prism is bounded—
(A) 6 (B) 4
(C) 5 (D) 3

(vi) 50 cm 1
(A) + 2 (B) –2 
(C) + 5 (D) –5 
Focal length of a concave lens is 50 cm. Its power will be
(A) + 2 Dioptre (B) –2 Dioptre
(C) + 5 Dioptre (D) –5 Dipotre

(vii)
1
(A) (B)
(C) (D)
The image of object is always same, The mirror will be
(A) convex (B) concave
(C) plane (D) plane or convex

CHEMISTRY
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(viii) 1
(A) 1 : 1 (B) 2 : 1
(C) 3 : 1 (D) 2 : 2
The ratio of atomic numbers of hydrogen and oxygen in water is
(A) 1 : 1 (B) 2 : 1
(C) 3 : 1 (D) 2 : 2

(ix) 1
(A) CnH2n + 2 (B) CnH2n + 1
(C) CnH2n (D) CnH2n-2
General formula of Alkyne is
(A) CnH2n + 2 (B) CnH2n+1
(C) CnH2n (D) CnH2n-2

(x) 1
(A) 23 (B) 26
(C) 25 (D) 24
Atomic number of Iron is—
(A) 23 (B) 26
(C) 25 (D) 24

(xi) 1
(A) NaOH (B) NaCl
(C) Na2CO3 (D) NaHCO3
Which compound of sodium is used to convert hard water into soft water ?
(A) NaOH (B) NaCl
(C) Na2CO3 (D) NaHCO3

(xii) 1
(A) (B)
(C) (D)
Which non-metal is good conductor of electricity ?
(A) Sulphur (B) Graphite
(C) Chlorine (D) Phosphrous
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(xiii) 1
(A) pH = 3 (B) pH = 10
(C) pH = 8 (D) pH = 9
Which of the following is acidic ?
(A) pH = 3 (B) pH = 10
(C) pH = 8 (D) pH = 9

(xiv) 1
CaCO3 CaO + CO2
(A) (B)
(C) (D)
Which type of following chemical reaction ?
(A) Displacement (B) Combination
(C) Decomposition (D) Double-displacement

BIOLOGY
(xv) 1

(A) (B)
(C) (D)
The largest gland of human body is
(A) liver (B) Pancreas
(C) Ovary (D) Adrenal

(xvi) 1
(A) (B)
(C) (D)
Which part of plant shows positive geotopism ?
(A) roots (B) stem
(C) leaves (D) flowers

(xvii) 1
(A) (B)
(C) (D)
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Which one is not a part of human female uproductive systerm.
(A) Ovary (B) Uterus
(C) Sperm (D) Fallopian tube

(xviii) 1
(A) (B)
(C) (D)
Magnesium is found in—
(A) Chlorophyll (B) R.B.C.
(C) Chloroplast (D) W.B.C.

(xix) 1
(A) (B)
(C) (D)
‘Kulh’ is a local canal irrigation system present in which state ?
(A) Bihar (B) Himachal Pradesh
(C) Punjab (D) Uttar Pradesh

(xx) 1
(A) (B)
(C) (D)
Stomata is where present in Hydrilla plant.
(A) On leaves (B) On leaves
(C) On leaves & stem both (D) None of above
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SCIENCE

GROUP : A
1. (m)
2.
3.
4. 180º
5. + 1
6.

A
B

A'
B'F1 F2O2F1

2F2

7. 1 1 1 
11 1

8. (P) = + 1.5 D = + 1.5m–1  [ 1D = 1m–1] ( … … … … )
  1P f

–1 –1
1 1 1

1.5m 1.5mf P   
100cm 67cm+1.5   [ 1m = 100 cm]

9. —
 

1.  1. 
 

2.  2.  

3. (A)  3. (V)  
 10.

— AB 
NS 

 ANSWERS
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S

N
BA

AB 

S

N N

S

11. Ca (OH)2
12.
13.
14.
15. 8
16.

—

CuO + H2 Cu + H O2

17. pH 
pH 7.4 

18. (i)
(ii)
(iii)

19. (i)

(ii)
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(iii) A, B 18 

20. — SO2, NO2, H2S 

—
—

(i) —
(ii) —

(iiii) —
21.
22.
23. CFC ( )
24.
25.
26.
27. —

(i)
(ii)

28.
(Pollination) 

(Self pollination)—

(Cross pollination)—

29. —
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30.

GROUP : B
31. (i) (B) (ii) (B) (iii) (A) (iv) (D) (v) (C) (vi) (B) (vii) (C)(viii) (B) (ix) (D) (x) (B)

(xi) (C) (xii) (B) (xiii) (A) (xiv) (C)(xv) (A) (xvi) (A)(xvii) (C)(xviii)(A) (xix) (B) (xx) (D)
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SCIENCE

SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–V
GROUP-A
PHYSICS

1. (shaving mirror) 1
Which type of mirror is shaving mirror ?

2. 1
What is dispersion of white light ?

3. 1
What is electric circuit ?

4. 1
What is commulator ?

5. 10 1
How much  is the power of concave lens having focal length 10 cm.

6. 2
Draw figure of electric bulb, naming each part.

7. 2
What do you mean by electromagnetic induction ?

8. 3
Why not planet is twinkling ? Discuss.

9. 3
Why it is necessary to earthed electrical appliances of metal body ?

10. 24 15 
5

The radius of curvature of convex mirror is 24 cm. What is position of image of object kept at 15 cm from
mirror.

CHEMISTRY
11. 1

Which of the following is oxidising compound in given equation ?
H2S + I2 2HI + S

12. 1
Base soluble in water is called ?

13. 1
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What is gange ?
14. C4H9OH 1

What is the name of C4H9OH ?
15. 1

In which sides metal is situated in table.
16.

Write the full name of following
(i) C N G (ii) LPG

17. 2
What is Isomerism ?

18. 3
Define acid, base and salt.

19. 3 6 3
Write the name of valency of elements having atomic number 3 to 6.

20.
What is difference between metal & non metal at the base of chemical properties ?

BIOLOGY
21. HIV 1

Write full form of HIV.
22. ( ) 1

Write one function of mucous.
23. 1

During respiration break down of glucose into pyruvate where take place in cell ?
24. 1

Give one example of plant hormone which prohibit growth.
25. 1

Which enzyme responsible for digestion of fat in food ?
26. 2

Write  importance of variation in living things.
27. 2

Why it is necessary to conserve biodiversity ?
28. 3

What is reflex arc ? Show it by diagram.
29. 3

What are differences between respiration and photosynthesis ?
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30. 5
Explain double circulation of heart in human being.

31.
(GROUP-B)

PHYSICS
(i) f — 1

(A) 1
f (B) f

(C) 1
p (D) p

The power of a lens of focal length f is—

(A) 1
f (B) f

(C) 1
p (D) p

(ii) — 1
(A) 1.33 (B) 1.65
(C) 1.44 (D) 2.42
The refractive index of diamond is—
(A) 1.33 (B) 1.65
(C) 1.44 (D) 2.42

(iii) — 1
(A) (B)
(C) (D)
An action of adujustment in eye lens is done by—
(A) Iris (B) Eye lens
(C) ciliary muscles (D) cornea

(iv) 1
(A) (B)
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(C) (D)
Which colour of light the wave length is maximum—
(A) Red (B) Yellow
(C) Violet (D) Blue

(v) — 1
(A) (B)
(C) (D)
Electric fuse saves the circuit from—
(A) High current flowing during overloading (B) High current flowing during short circuit
(C) Both of these (D) None of these

(vi) 1
(A) 100Hz (B) 40Hz
(C) 50Hz (D) 60Hz
The frequency of an alternating current is—
(A) 100Hz (B) 40Hz
(C) 50Hz (D) 60Hz

(vii) S.I. — 1
(A) (B)
(C) (D)
The S.I. unit of magnetic field is—
(A) Tesla (B) Newton
(C) Meter (D) Ampere

CHEMISTRY
(viii) 1

(A) (B)
(C) (D)
The compound take part in chemical reaction is called ?
(A) Oxidising agent (B) Reducing agent
(C) Reactant (D) Product

(ix) 1
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(A) CH 3COOH (B) C6H12O6
(C) C12H22O11 (D) CH 3CHO
What is the chemical formula of sugar ?
(A) CH 3COOH (B) C6H12O6
(C) C12H22O11 (D) CH 3CHO

(x) 1
(A) (B)
(C) (D)
Which of the following non metal is conductor of electricity ?
(A) Graphite (B) Copper
(C) Diamond (D) Sulphur

(xi) 1
(A) 2 (B) 3 
(C) 4 (D) 1 
The approx number of carbon compounds is—
(A) 2 million (B) 3 million
(C) 4 million (D) 1 million

(xii) 1
(A) Li (B) Na
(C) M g (D) Rb
Which of the following is not alkali metal ?
(A) Li (B) Na
(C) M g (D) Rb

(xiii) 1
(A) 290 k (B) 209 k
(C) 156 k (D) 90 k
Which is melting point of acetic acid ?
(A) 290 k (B) 209 k
(C) 156 k (D) 90 k

(xiv) 1
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(A) HCl (B) HNO 3
(C) H2SO4 (D) K O H
Which of the following is not acid ?
(A) HCl (B) HNO 3
(C) H2SO4 (D) K O H

BIOLOGY
(xv) O2 CO2 1

(A) (B)
(C) ‘a ‘b’ (D)
By which biochemical reaction in atmosphere to maintain balance between O2 and CO2 ?
(A) respiration (B) photosynthesis
(C) ‘a’ and ‘b’ both (D) none of these

(xvi) 1
(A) (B)
(C) (D)
In any ecosystem biological factors are
(A) light and water (B) plants and soil
(C) green plants and water (D) plants, animals, human being & micro organism

(xvii) 1
(A) AIDS (B)
(C) (D)
Which one is sexualy transmitted disease ?
(A) AIDS (B) Malaria
(C) beri-beri (D) Typhoid

(xviii) 1
(A) (B)
(C) (D)
Hormone secreted by—
(A) Endocrine gland (B) exocrine gland
(C) tubular gland (D) none of these
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(xix) 1
(A) (B)
(C) (D)
Plant waste material stored in—
(A) leaves (B) bark
(C) cellular vacuoles (D) all of these

(xx) ‘The Origin of Species’ 1
(A) (B)
(C) (D)
Who wrote the book ‘The Origin of Species’ ?
(A) Darwin (B) Operin
(C) Lamarc (D) None of these.
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 ANSWERS
GROUP : A

1.
2.
3.
4.
5. 0.1 

6.

)(

7.

8.

9.

10.
u = –15 

      R = 24 
24 122 2

Rf   
V = ?

1 1 1
u v f 

1 1 1
15 12v  

1 1 1
12 15v  
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  5 4 3
60 20
 

 1 3
20V 

20
3V    

11. I2 ( ) 
12.
13.
14. (Buetanol)
15.
16. C.N.G.— (Compressed natural gas)

L.P.G.— (Liquid pertolium gas)
17.

18. —
HCl, H2SO4

—
OH 

Na2O + H2O 2NaOH ( )
— NaCl, CuSO4 

Na2O + H2SO4 Na2SO4 + H2O
19.

  
3 Li (  1 
4 Be (  2 
5 B (  3 
6 C ( 4 
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20.

 
(i) 
 4Na + O2 2Na2O 

(i) 
 S + O2 SO2 

(ii) 

 Na2O + H2O2NaOH (  

(ii) 

SO3 + H2OH2SO4 (  
(iii) 
 Ca + H2SO4CaSO4 + H2 

(iii)  
(iv) 

Ca + 2H2OCa(OH)2 + H2 
(iv)  

(v) 
Na + H22NaH 

(v) 
C + 2H2CH4 

 
21. (Human Imuno Virus)
22. ( ) 
23.
24.
25.
26.
27.

28. (reflescare) 
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SCIENCE

29.
 

(i) (catabolic)  (i) (anabolic)  
(ii)  (ii)  
(iii)  (iii)  
 30.

A2
V2

A1
V1

GROUP : B
31. (i) (A) (ii) (D) (iii) (C) (iv) (A) (v) (B) (vi) (C) (vii) (A)(viii) (C) (ix) (C) (x) (A)

(xi) (B) (xii) (C) (xiii) (A) (xiv) (D)(xv) (C) (xvi) (D)(xvii) (A)(xviii)(A) (xix) (D) (xx) (A)
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SCIENCE

SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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SCIENCE

CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–VI
GROUP-A
PHYSICS

1. 1
What is rehostate ?

2. 1
What is focal length of plane mirror ?

3. 1
On which part of the eye image of an object is formed ?

4. 1
What is unit of electric current ?

5. 1
In household circuit, how is electrical devices connected ?

6. 2.42 2
Refractive index of Diamond is 2.42. What its mean ?

7. 1V 2
What does it mean to say that the potential difference between two points is 1V ?

8. 3
What is presbyopia ?

9. 1200  220V 3
If the resistance of any electric bulb filament is 1200 , how much electric current is required from source
having bulb 220V.

10. 5 
5 5

The radius of curvature of a convex mirror which is used to see the back view in any automobile is 3m. If a bus
is at a distance of 5m, then find the position, nature and size of the image.

CHEMISTRY
11. 1

Name one metal which is the best conductor of electricity.
12. 1

Write down the name of an element from 1st period of periodic table.
13. 1
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Fe + H2O Fe3O4 + H2
Balance the following equation
Fe + H2O Fe3O4 + H2

14. CH3COOH IUPAC 1
Write down the IUPAC name of CH3COOH.

15. 1
For the test of acid and base write the name of two synthetic indicator.

16.
Why does the colour of copper sulphate solution change on adding a piece of Iron.

17. 2
What is electro-negativity ? Write the name of most electro negative element.

18. 3
Why metals are good conductor of electricity ? Give two examples.

19.
3

Which gas is usually liberated when an acid reacts with a metal ? Give an example. How will you test the
presence of this gas.

20.
Write five differences between Soap and Detergent.

BIOLOGY
21. 1

Blood is which type of tissue.
22. 1

Why glucose is called as ‘Cellular fuel’ ?
23. 1

Where is the centre of intelligence & clever in brain ?
24. 1

Which part of flower change into fruit ?
25. 1

What is fossil ?
26. 2

What is the function of acid in our stomach ?
27. 2

What are differences between xylem and phloem ?
28. 3

What is food chain ? Show a plain food chain.
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29. 3
Show the process of nutrition in amoeba by diagram.

30. 5
Draw neat and labelled diagram of human brain.

31.
(GROUP-B)

PHYSICS
(i) — 1

(A) (B)
(C) (D)
An image smaller than an object is formed by—
(A) concave mirror (B) convex mirror
(C) plane mirror (D) concave and convex mirror

(ii) — 1
(A) (B)
(C) (D)
Electromagnetic induction is discovered by—
(A) Maxwell (B) Ampere
(C) Faraday (D) Fleming

(iii) 20 , 5 4 — 1
(A) 2  (B) 29 
(C) 0.5  (D)
In resistances of 20 , 5 and 4 are joined in parallel combination then the equivalent resistance is
(A) 2  (B) 29 
(C) 0.5  (D) None of the above

(iv) — 1
(A) (B)
(C) (D)
A rod inserted into water looks bent. The cause responsible is—
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(A) Refraction (B) Reflection
(C) Both of these (D) None of these

(v) — 1
(A) (B)
(C) (D)
The colour of the sky appears blue because of—
(A) Refraction of light (B) Dispersion of light
(C) Reflection of light (D) None of these

(vi) — 1
(A) (B)
(C) (D)
On which effect of an electric current does an electric fuse work—
(A) Heating effect (B) Magnetic effect
(C) Chemical effect (D) None of these

(vii) — 1
(A) 25 m (B) 2.5 cm
(C) 25 cm (D)
Upto what distance of the object can a normal eye view clearly—
(A) 25 m (B) 2.5 cm
(C) 25 cm (D) infinite

CHEMISTRY
(viii) 1

(A) H2 + Cl2 HCl (B) H2 + Cl2 2HCl
(C) 2H2 + 2Cl2 2HCl (D) 2H2 + 2Cl2 HCl
Following chemical reaction is balanced ?
(A) H2 + Cl2 HCl (B) H2 + Cl2 2HCl
(C) 2H2 + 2Cl2 2HCl (D) 2H2 + 2Cl2 HCl

(ix) 1
(A) Fe2O3 (B) Al2O3
(C) P2O5 (D) N 2O



SCIENCE : CLASS -X 67

SCIENCE

Which of the following is amphoteric oxid—
(A) Fe2O3 (B) Al2O3
(C) P2O5 (D) N 2O

(x) 1
(A) NaHCO3 (B) Al2O3
(C) P2O5 (D) N 2O
The chemical formula of Baking soda is
(A) NaHCO3 (B) Al2O3
(C) P2O5 (D) N 2O

(xi) 1
(A) (B)
(C) (D)
The major ore of aluminium is—
(A) Bauxite (B) Haematite
(C) Calamine (D) None of these

(xii) — 1
(A) CnH2n (B) CnH2n+2
(C) CnH2n–2 (D) CnH2n–1
General formula of Alkene is—
(A) CnH2n (B) CnH2n+2
(C) CnH2n–2 (D) CnH2n–1

(xiii) 1
(A) (B)
(C) (D)
In saturated compound
(A) having double bond (B) having triple bond
(C) having single bond (D) All of these

(xiv) — 1
(A) Na (B) P
(C) Si (D) Al
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The element which has the maximum number of valence electrons is—
(A) Na (B) P
(C) Si (D) Al

BIOLOGY
(xv) — 1

(A) (B)
(C) (D)
In human dialysis pouch is—
(A) Stomach (B) Nephron
(C) Neuron (D) Biles pouch

(xvi) 1
(A) (B)
(C) (D)
In flower male reproductive organ is—
(A) Androecium (B) Gynoecium
(C) Calyx (D) All of these

(xvii) 1
(A) (B)
(C) (D)
Which of the following is an example of unisexual flower ?
(A) Papaya (B) Mustard
(C) China rose (D) Gulmohar

(xviii) — 1
(A) (B)
(C) (D)
Which  one is the longest part of human digestive system ?
(A) Mouth (B) Oesophgus
(C) Small intestine (D) Large intestine

(xix) 1
(A) (B)
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(C) (D)
During respiration process what happened with food material ?
(A) Synthesis (B) burning
(C) break down (D) none of these

(xx) 1
(A) (B)
(C) (D)
Which cells surround stomata
(A) Guard cells (B) Nerve cell
(C) Helping cells (D) All of these.
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 ANSWERS
GROUP : A

1.

2.
3.
4.
5.
6.

 =

 83 102.42 
83 10

2.42


103 10
242


7.
1 1 (1V) 

 11 1
 1V = 1 JC–1

8.

9.
V = 220V
R = 1200 

 VI R

 220
1200

V 
 I = 0.18 A
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10. —
R = +3 

  u = –5 
V = ?
(h') = ?

 R = + 3 
 3 1.502f   

1 1 1
u v f 

  1 1 1
v f u 

 1 1
1.50 5   
1 1

1.50 5 
5 1.50

7.50


6.50
7.50

 7.50 1.506.50v   
1.15 

'h v
h u  
1.15

5
 

1.15 0.235   
( ) ( ) (0.23 )

11.
12.
13. 3Fe + 4H2O Fe3O4 + 4H2
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14.
15.
16. (CuSO4) 

CuSO4 (aq) + Fe (s) FeSO4 (aq) + Cu (s)
17. (Electro-negativity)—

(F)
18.

1, 2 3 

—
19. — 5ml

H2SO4 

20.
1.

2. C O
O Na– +

O Na– +O
O
S

O Na– +

O
S

3.

4.
5.

21.
22. (ATP) 
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23.
24.
25.
26.

27.
 

(i)  (i) ( )
 

(ii)  (ii)  
 28.

—

( )( ) ( )

29.
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30.

( )

GROUP : B
31. (i) (D) (ii) (B) (iii) (A) (iv) (A) (v) (B) (vi) (A) (vii) (D)(viii) (B) (ix) (B) (x) (A)

(xi) (A) (xii) (A)(xiii) (C) (xiv) (B)(xv) (B) (xvi) (A)(xvii) (A)(xviii)(C) (xix) (C) (xx) (A)
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SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–VII
GROUP-A
PHYSICS

1. 1
Which resistance is greater, Copper and Nicrome ?

2. 1
How many types of charge ?

3. 1
Is electric field equal under solenoid ?

4. 1
Write two sources of man made light.

5. 1
Which colour ray has less deviation in Prism ?

6. 2
What is difference between principal focus and focus ?

7. 2
Write two characteristics of magnetic field lines.

8. 3
Write two uses of each of concave, convex and plane mirror.

9. 3
Write three advantages of Alternating current.

10. 8  2 15A 5
Any electric heater of 8resistance takes 15 ampere electric current in two hours. Calculate rate of generated
heat in heater.

CHEMISTRY
11. 1

Which types of reaction is resistance ?
12. 1

What is strong acid ?
13. 1

Write the name of one liquid form of metal & non metal ?
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14. 1
Which tyep of bond is formed between two atoms of oxyen ?

15. 1
What is the change of shape in periodic table from top to bottom.

16.
Write the two examples of double displacement reaction in equation form ?

17. 2
How many types of indicatior ?

18. 3
Write the four physical properties of non-metal.

19. Mg12 S16 3
What is the valency of M12 & S16 ? And also write the electronic configurations ?

20.
Find the ethanol by fermentation process ? Write the two utilisation of ethanol ?

BIOLOGY
21. 1

Which type of nutrition in fungi ?
22. 1

What is called storing of water ?
23. 1

Write the name of one plant in which vegetative propagation takes place by leaves.
24. 1

What is called the liquid part of blood ?
25. 1

What is phenotypic and genotypic ratio of monohybrid cross of Mendal.
26. 2

Write differences between reflexation & aflex are.
27. 2

What is organic evolution ?
28. 3

For our natural resources conservation write five work.
29. 3

Draw labelled diagram of nerve cell.
30. 5

What is respiration ? Draw a labelled diagram of respiratory system of human being.
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31.
(GROUP-B)

PHYSICS
(i) 1

(A) (B)
(C) (A) (B) (D)
Image can be formed of any object by concave mirror.
(A) Only virtual (B) Only real
(C) Both (A) & (B) (D) None of these

(ii) 4
3

3
2

1

(A) 9
8 (B) 9

4
(C) 1 (D) 2

If the ralatiue refractive index in vaccum of water and glass is4
3 and 

3
2,what will be relative refractive

index of glass to water.
(A) 9

8 (B) 9
4

(C) 1 (D) 2
(iii) 1

(A) (B)
(C) (D)
The bucket full of water looks less depth. Its cause is
(A) Refraction (B) Total internal reflection
(C) Reflection (D) None of these

(iv) — 1
(A) (B)
(C) (D)
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At the time of sunrise and sunset the sun looks
(A) spherical (B) cylindrical
(C) egg shape (D) cube shape

(v) (fuse) 1
(A) (B)
(C) (D)
Fuse wire is made of
(A) Iron (B) Tin
(C) Copper (D) Tin and Copper

(vi) 1
(A) 10–2A (B) 10–3A
(C) 10–5A (D) 10–6A
1 mili ampere is equal to
(A) 10–2A (B) 10–3A
(C) 10–5A (D) 10–6A

(vii) 1
(A) 2 (B) 3
(C) 4 (D) 6
If a bar magnet is cut into three pieces, what will be total numbers of poles ?
(A) 2 (B) 3
(C) 4 (D) 6

CHEMISTRY
(viii) 1

(A) (B)
(C) (D)
Fermentation of grade is—
(A) chemical change (B) physical change
(C) physical & chemical change both (D) None of these

(ix) (NaOH) pH 1
(A) 11 (B) 12
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(C) 13 (D) 14
The approx pH value of NaOH is :
(A) 11 (B) 12
(C) 13 (D) 14

(x) 1
(A) (B)
(C) (D)
Which the following metal is deeped in Kerosin oil ?
(A) Sodium (B) Magnesium
(C) Sulphur (D) Led (pb)

(xi) 1
(A) CH4 (B) C2H2
(C) C6H6 (D) C2H4
The molecular formula of benzene is :
(A) CH4 (B) C2H2
(C) C6H6 (D) C2H4

(xii) 1
(A) (B)
(C) (D)
What is the base of element classification by Mendal of ?
(A) Atomic mass (B) Atomic number
(C) Atomic radius (D) Atomic density

(xiii) 1
(A) IVA (B) IV B
(C) VI A (D) II A
In which group of carbon and present in Periodic table ?
(A) IVA (B) IV B
(C) VI A (D) II A

(xiv) 1
(A) HCl (B) NaOH
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(C) K2SO4 (D) NH 4OH
Which of the following is salt ?
(A) HCl (B) NaOH
(C) K2SO4 (D) NH 4OH

BIOLOGY
(xv) 1

(A) (B)
(C) (D)
In acidic medium which is protein digesting enzyme ?
(A) Pepsin (B) Lipase
(C) Amylase (D) lactose

(xvi) — 1
(A)   (B)  
(C)   (D)  
Right food chain is—
(A) Bird  snake  grass (B) Fish  grass  cow
(C) Goat  grass  deer (D) grass  deer  lion

(xvii) 1
(A) (B)
(C) (D)
Which function is necessary for all organism is given below ?
(A) Photosynthesis (B) Transpiration
(C) Respiration (D) Locomotion

(xviii) III — 1
(A) (B)
(C) (D)
Uro II is related to—
(A) air pollution (B) water pollution
(C) Soil pollution (D) None of these

(xix) 1
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(A) (B) CO2
(C) (D) CO2
Which is not happen is photosynthesis process ?
(A) Break down of water (B) Release of CO2
(C) Release of O2 (D) Use of CO2

(xx) 1
(A) (B)
(C) (D)
In which type of reproduction bud formation take place on parent body.
(A) budding (B) fission
(C) fragmentation (D) sporulation
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GROUP : A
1.
2.
3.
4.
5.
6.

7. (i)
(ii)

8.
(i) (ii)

(i) (ii)

(i)
(ii)

9. (i)
(ii)
(iii) 

10. —
I = 15 A, R = 8 , t = 2 hours

VI R
 V = IR = 15 × 8 = 120V
H = V I t = 120 × 15 × 2 

120 15 2 120 15 1800W2
    

11.
12. H+ 
13.
14.
15.

 ANSWERS



84 SCIENCE :  CLASS-X

SCIENCE

16. (i) NaCl  + H2SO4 NaHSO4 + HCl
(ii)FeS + H2SO4 FeSO4 + H2S

17. —(i) (ii) 
—

18. (i)
(ii)
(iii)
(iv)

19. 12 (2,8, 2) 2 
(S) 16 (2, 8, 6) 6 2 

2 
20. CnH2n+1OH 

— C2H5OH
— (C2H5Cl) 

Heat
2 5 2 5C H Cl NaOH C H OH NaCl  

—
21.
22. (Water harvesting)
23.
24.
25. (phenotypic) 3 : 1 (genotypic) 1 : 2 : 1 
26. —

—
—

27.
(Organic evolution) 

28. —
(i) —
(ii) —
(iii) —
(iv) —
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(v) —

29.

30.

GROUP : B
31. (i) (C) (ii) (A) (iii) (A) (iv) (C) (v) (D) (vi) (B) (vii) (D)(viii) (A) (ix) (D) (x) (A)

(xi) (C) (xii) (A)(xiii) (A) (xiv) (C)(xv) (A) (xvi) (D)(xvii) (C)(xviii)(A) (xix) (B) (xx) (A)
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 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–VIII
GROUP-A
PHYSICS

1. 1
Convex lens is called, which type of lens?

2. 1
What is relation between focal length and radius of curvature of spherical mirror ?

3. 1
What is called distance between far point and near point ?

4. 1
Write three uses of electric current.

5. 1
Which direction indicates thumb in Fleming's left-hand rule ?

6. 2
Show figure in series and sparallel grouping of three resistances.

7. 2
What should be position of an object in front of convex lens for virtual and magnified image ?

8. 3
What is heat law of Joule ?

9. 3
What is Colloid ? Give its two examples. What do you mean by Tyndall effect ?

10. 5
Find the value of electric current.

11

11
6V 6V 6V

333
k
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CHEMISTRY
11. 1

Write the one example for oxidation reaction.
12. 1

What is effect of acid on the blue litmus paper ?
13. 1

What is formed, when iron combines with oxygen ?
14. C.N.G. 1

What is main component of C.N.G. ?
15. 1

What is the metal of first ten elements is periodic table ?
16.

Define the following :
(i) (Combination reaction)
(ii) (Oxidation)

17. 2
Write the four utilisations of hydrochloric acid.

18. 3
Give the reason ? Diamond is hard & graphite is soft why ?

19. 3
What is the limitations of Newland's octate rule ?

20.
Differentiate between oxidising agent & Reducing agent with examples.

BIOLOGY
21. 1

Write a name of gland which is both endocine and exocine in nature.
22. 1

What is the function of guardcells in stomata ?
23. 1

In human being growth and development controlled by which hormone ?
24. 1

What is ecosystem ?
25. 1

In women where is fertilization takes place ?
26. 2
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What is excretion ? Write the name of two excretory material ?
27. 2

What is bio-magnification ?
28. 3

What is heredity ? Explain any two Mendel's law of Heredity.
29. 3

What is nutrition ? Explain different type of nutrition in animals.
30. 5

Explain bio mass of Pyramid.
31.

(GROUP-B)

PHYSICS
(i) 1

(A) (B)
(C) (D)
The value of focal length of any plane mirror is
(A) zero (B) one
(C) infinity (D) None of these

(ii) 1
(A) (B)
(C) (D)
The distance between pole to centre of curvature of spherical mirror is called
(A) focal length (B) radius of curvature
(C) pole of distance (D) none of these

(iii) 2 × 108 m/s 1
(A) 1.0 (B) 1.5
(C) 1.4 (D) 2.3
Speed of light is 2 × 108 m/s in any medium. Refractive index of medium is
(A) 1.0 (B) 1.5
(C) 1.4 (D) 2.3
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(iv) 1
(A) (B)
(C) (D)
Which one can not be used for making lens from following
(A) air (B) water
(C) mercury (D) glass

(v) 1
(A) (B)
(C) (D)
On which part of the eye, the image of an object is formed ?
(A) Cornea (B) retina
(C) Pupil (D) iris

(vi) 1
(A) (B)
(C) (D)
Which of the following is conductor—
(A) Rubber (B) Mica
(C) Diamond (D) Iron

(vii) 100 W, 220V 1
(A) 484 (B) 121 
(C) 44  (D) 22 
What will be resistance of filament of a electric bulb rated 100 W, 220 V.
(A) 484  (B) 121 
(C) 44  (D) 22 

CHEMISTRY
(viii) 1

(A) 2 2 3N 3H 2NH  (B) AgNO3 + HCl AgCl + HNO3
(C) CaCO3 CaO + CO2 (D) C + O2 CO2
Which of the following is reversible reaction ?
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(A) 2 2 3N 3H 2NH  (B) AgNO3 + HCl AgCl + HNO3
(C) CaCO3 CaO + CO2 (D) C + O2 CO2

(ix) 1
(A) (OH)– (B) H +

(C) (D)
What is liberated when base is disolved in water ?
(A) (OH)– (B) H +

(C) Both (D) None of the above
(x) — 1

(A) (B)
(C) (D)
Cinnabar is ore of—
(A) Zn (Zinc) (B) Al (Alumenium)
(C) Hg (Para) (D) Ca (Calcium)

(xi) 1
(A) (B)
(C) (D)
Which allotrope of carbon is used in making of pencil ?
(A) Charcol (B) Coke
(C) Graphite (D) Isoprone

(xii) 12 1
(A) 1 (B) 2
(C) 3 (D) 4
If any element atomic number 12 then what will valency of that element ?
(A) 1 (B) 2
(C) 3 (D) 4

(xiii) 1
(A) 114 (B) 103
(C) 98 (D) 93
How many number are known element till now ?
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(A) 114 (B) 103
(C) 98 (D) 93

(xiv) 1
(A) CH4 (B) C2H4
(C) C2H6 (D) C3H8
Which of the following is the molecular formula of Propane ?
(A) CH4 (B) C2H4
(C) C2H6 (D) C3H8

BIOLOGY
(xv) 1

(A) (B)
(C) (D)
In which type of respiration more energy is release ?
(A) aerobic respiration (B) anaerobic respiration
(C) fermentation (D) None of these

(xvi) — 1
(A) (B)
(C) (D)
Development of very small plant from seed, the process is called as—
(A) sprouting (B) fertilization
(C) reproduction (D) none of these

(xvii) 1
(A) (B)
(C) ‘a’ ‘b’ (D)
Difference between different members of same species is called—
(A) equality (B) variation
(C) ‘a’ and ‘b’ both (D) None of these

(xviii) — 1
(A) (B)
(C) (D)
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Duodenum is the part of—
(A) Mouth cavity (B) Stomach
(C) Small intestine (D) Large intestine

(xix) — 1
(A) (B)
(C) (D)
Blood vessels which send pure of oxygenated blood in heart from different parts of body called as—
(A) Arteries (B) Veins
(C) Auricle (D) Ventricle

(xx) 1
(A) (B)
(C) (D)
Where gum or rasin are store in specific way in plants ?
(A) Xylum (B) Phloem
(C) Parenchyma (D) All of these
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GROUP : A
1.
2. = 2
3.
4.
5.
6.

7.
8.

(i)
(ii)
(iii) I R 

t (H) = I2 Rt
9. — (Suspension) 

—
—

10.

R1 = = 2 
R2 = = 2 

 
1 2

1 1 1 1 1 1 1 2 12 2 2 2R R R
          

= 3 × 6V = 18V
= 9 

= 9 + 1 = 10 
  18 1.810

VI  
11. 22Cu O 2CuO 

 ANSWERS
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12.
13.

4Fe + 3O2 2Fe2O3
14. (CH4)
15. Li Be
16. —

—CO2 + O2 CO2
—

—2H2 + O2 2H2O
17. (i)

(ii)
(iii)
(iv)

18.

19. (i) (Ca) 

(ii)
(iii)
(iv) —CO Ni, Ce La
(v)

20.

—(i) H2S + I2 2HI + S
H2S 

(ii) Zn + 2HCl ZnCl2 + H2
HCl Cl HCl 

(iii) 3Fe + 4H2O Fe3O4 + 2H2
Fe Fe H2O 

 SO2 HCl H2S 
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21.
22.
23. (Growth hormone)
24.
25. ( )
26.

27.

28.
(Mendel's first law of regregation)—

 (Mendel's law of independent assortment)—

29.  
—

(i) —
—

(ii) —
—

(iii) —
—

30.
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( )

( )

(phytoplankton) 

( )

(zooplankton)

GROUP : B
31. (i) (C) (ii) (B) (iii) (B) (iv) (C) (v) (B) (vi) (D) (vii) (A)(viii) (A) (ix) (A) (x) (C)

(xi) (C) (xii) (B) (xiii) (A) (xiv) (D)(xv) (A) (xvi) (A)(xvii) (B)(xviii)(C) (xix) (A) (xx) (A)
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SCIENCE
 :  3 15 ] [ : 60

-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–IX
GROUP-A
PHYSICS

1. 1
In which mirror, the image of an object is erect and magnified ?

2. — 1
In which medium, the refractive index is maximum—of dense medium or rare medium ?

3. 1
Which lens is used for the treatment of farsightedness or Hypermetropia ?

4. (kwh) 1
What is kilowatt hour (kwh) ?

5. S.I. 1
What is S.I. unit of an electric charge ?

6. 2
What is the difference between real images and virtual images ?

7. 2
Why a heating element of an electric iron is made by an alloy not by pure metal ?

8. 3
What do you mean by power of lens ? Write its unit.

9. 3
Write three differences in alternating current (A.C.) and direct current (D.C.)

10. 15 
10 5
The focal length of a concave lens is 15cm. On What distance from the lens, we place an such that the image is
formed at 10 cm from the lens ? Find the magnification produced by the lens.

CHEMISTRY
11. 1

Give one example of a displacement reaction.
12. 1

What is the taste of basic substances ?
13. 1

What is the general nature of metal oxide ?
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14. 1
On which side of the periodic table do you find the metals ?

15. (CO2) 1
What would be the electron dot structure of Carbon-dioxide (CO2).

16.
What is non-metal ? Name two non metals.

17. 2
Why is respiration considered as exothermic reaction ?

18. 3
(a)
(b)
(c)
Name of the following
(a) Two elements that have a single electron in their outermost shells.
(b) Two elements that have two electron in their outer most shells.
(c) Two elements with filled outermost shell.

19. — 3
(i)
(ii)
(iii)
Give balance reaction—
(a) Reaction of dilute sulphuric acid with Zinc.
(b) Reaction of dlilute hydrochloric acid with magnesium ribbon.
(c) Reaction of dilute sulphuric acid with powder of aluminium.

20.
On the basis of physical and chemical property write five differences between ethanol and ethanoic acid.

BIOLOGY
21. 1

Who is father of genetics ?
22. 1

Diabetes is caused due to deficiency of which hormones.
23. 1

What is called finger like structure formed on  the inner wall of small intestine ?
24. 1

What is the function of cotyledon in the seed ?
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25. 1
Write any two examples of artificial ecosystem.

26. 2
When and why menstrual cycle happen ?

27. 2
What is the role of decomposer in ecosystem  ?

28. 3
What is variation ? Explain two types of variation.

29. 3
Which method use by plants to get rid of waste materials ?

30. 5
Explain Mendal's monohybrid cross experiment and its conclusion which is done on pea plant.

31.
(GROUP-B)

PHYSICS
(i) — 1

(A) (B)
(C) (D)
The focal length of a concave mirror is of its radius of curvature—
(A) Double (B) Half
(C) One fourth (D) Equal

(ii) 30 
— 1

(A) 30 (B) 20 
(C) 15 (D) 10 
An object is placed of at a distance of 30 cm from a convex lens. A real image is formed at the same
distance from the lens. The focal length of the lens is—
(A) 30 cm (B) 20 cm
(C) 15 cm (D) 10 cm

(iii) — 1
(A) (B)
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(C) (D)
Which eye-defect arises due to decreasing of focal length of eye lens—
(A) Myopia (short sightedness) (B) Hypermotropia (far shightedness)
(C) Presbyopia (D) None of these

(iv) — 1
(A) (B)
(C) (D)
During short circuit an electric current in the circuit becomes—
(A) very low (B) unchanged
(C) very high (D) changes constantly

(v) — 1
(A) I2R (B) IR2

(C) VI (D) 2V
R

Which of the following expression does not represent electric power in an electric circuit ?
(A) I2R (B) IR2

(C) VI (D) 2V
R

(vi) — 1
(A) (B)
(C) (D)
The change in focal length of the eye/lens is done by—
(A) Pupil (B) Retina
(C) Ciliary Muscles (D) Iris

(vii) — 1
(A) –1 (B) +1
(C) (D)
The magnification produced by a plane mirror is—
(A) –1 (B) +1
(C) 0 (D) None of these
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CHEMISTRY
(viii) 1

(A) Cu (B) Fe
(C) S (D) Si
Hematite is the ore of
(A) Cu (B) Fe
(C) S (D) Si

(ix) 1
(A) (B)
(C) (D)
The process of coating iron with Zinc is called
(A) Corrosion (B) Galvanisation
(C) Tempering (D) Electrolysis

(x) 1
(A) (B)
(C) (D)
Which of the following is a saturated hydrocarbon ?
(A) Propane (B) Ethylene
(C) Acetylene (D) Butene

(xi) 1
(A) CH4 (B) C2H2
(C) C4H10 (D) C2H4
Which hydrocarbon has a double bond—
(A) CH4 (B) C2H2
(C) C4H10 (D) C2H4

(xii) 1
(A) Ca (B) Br
(C) He (D) Li
Which is an element of group zero ?
(A) Ca (B) Br
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(C) He (D) Li
(xiii) 1

(A) (B)
(C) (D)
Which one of the following types of mediciens is used for treating indigestion ?
(A) Antibiotic (B) Antacid
(C) Analgesic (D) Antiseptic

(xiv) CuO + H2 Cu + H2O 1
(A) CuO (B) H 2
(C) Cu (D) H 2O
In the reaction CuO + H2 Cu + H2O. Which is oxidised ?
(A) CuO (B) H 2
(C) Cu (D) H 2O

BIOLOGY
(xv) 1

(A) (B)
(C) (D)
Which one is photosynthetic organelle ?
(A) Chloroplast (B) Leaf
(C) Garna (D) Stroma

(xvi) — 1
(A) (B)
(C) (D)
In human being nasal cavity, larynx, trachea and lung combine to form—
(A) Excretory system (B) Digestive system
(C) Respiratory system (D) Reproductive system

(xvii) — 1
(A) (B)
(C) (D)
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The type of nutrition in which animals take their food in solid on liquid form, called as—
(A) Holozoic nutrition (B) Saprophytic nutrition
(C) Parasitic nutrition (D) Autotroph

(xviii) 1
(A) (B)
(C) (D)
Which one is asexual reproductions method as given below ?
(A) Fission (B) Budding
(C) Binary fission (D) All of these

(xix) 1
(A) CO2 (B) C O
(C) NH 3 (D) ‘B’ ‘C’ 
Which are is formed after breakdown of amino acid ?
(A) CO2 (B) C O
(C) NH 3 (D) ‘B’ and ‘C’ both

(xx) — 1
(A) (B)
(C) (D)
In unicellular algaes circulation of water done by—
(A) Osmosis (B) Sieve tubes
(C) Diffusion (D) None of these
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 ANSWERS
GROUP : A

1.
2.
3.
4. 1 (kw) 1 (kwh) 

5.
6.

7.

8.
(P), (f) —

1P f
(D) 

9. —
 

(i)  (i)  
(ii)  (ii)  
(iii)  (iii)  
 10. —

f = –15 
v = – 10 

 —
1 1 1
v u f 

1 1 1
–10 u –15 
1 1 1
u 15 10 

2 3 1
30 30
  
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 u = –30 ( )
vm u

10 1 0.3330 3
   

30 0.33 
11. 4 4( ) ( )

Zn(s) CuSO (aq) ZnSO (aq)+Cu(s) 
12. ( )
13.
14.
15. ×× ××

16. — —
17.

6 12 6 2 2 2 2( )
C H O (aq) + 6O (aq) 6H O(l) 6CO (aq) 12H O + (1.18)  

18. (a)
1

—Li, Na
(b)

2
—Mg, Ca

(c)
18

—He, Ne
19. (i) Zn (s) + H2SO4 (aq) ZnSO4 (aq) + H2(g)(ii)Mg + 2HCl  MgCl2 + H2 

(iii)2Al + 3H2SO4 Al2 (SO4)3 + 3H2 
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20.
(i) –OH (i) –COOH
(ii) (ii)
(iii) (iii)
(iv) — (iv) —

2C2H5OH + 2Na 2C2H5ONa + H2 2CH3COOH + 2Na 2CH3COONa + H2
(v) PCl5 —

C2H5OH + PCl5 C2H5Cl + POCl3 + HCl (v) PCl5 —
CH3COOH + PCl5 CH3COCl + POCl3+ HCl

21.
22.
23.
24.
25.
26.

28 
27.

recycle 
environment cleaner 

28.

—
—

—

29.  (CO2 O2)





30.  (monohybrid cross) 
T ( ) t ( )

F1F1 3 : 1 
F1 
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( t)

tT
T
t

TT
tt
Tt

Tt
Or

TT
( )

T
x tt

t
Tt

( )

F  2

F  1

TT Tt Tt tt

T t T t
Tt Tt×

3 : 1 
1 : 2 : 1 

GROUP : B
31. (i) (B) (ii) (C) (iii) (A) (iv) (C) (v) (B) (vi) (C) (vii) (B)(viii) (B) (ix) (A) (x) (A)

(xi) (D) (xii) (C) (xiii) (B) (xiv) (B)(xv) (A) (xvi) (C)(xvii) (A)(xviii)(D) (xix) (D) (xx) (C)
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SET -10 
    foKku  (SCIENCE) 
 
 
¼le;%& 2?kaVk 45 feuV½          iw.kZakd&80 
 
ijh{kkFkhZ ds fy, funsZ'k% 
1- ijh{kkFkhZ ;Fkk lEHko vius 'kCnksa esa gh mÙkj nsaA 
2- nkfguh vksj gkf'k,s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 
3- lHkh iz'u vfuok;Z gSA 
4- mÙkj nsrs le; ijh{kkFkhZ ;FkklaHko 'kCn & lhek dk /;ku j[ksaA 
 Group - A 
 ¼vad&60½ 
funsZ'k%& 
 (i) 1 vad okys iz'uksa ds mÙkj ,d 'kCn ;k ,d okD; esa nsaA 
 (ii) 2 vad okys iz'uksa ds mÙkj yxHkx 50 'kCnksa esa  
    3 vad okys iz'uksa ds mÙkj yxHkx 75 'kCnksa esa ,oa 5 vad okys iz'uksa ds mÙkj yxHkx 150 'kCnksa 
esa nsaA 
 Group - B 
le;&30 feuV         iw.kkZad 20x1=20 
 
funsZ'k%& 
(i)   izR;sd iz'u ,d vad dk gSA 
(ii)  fn, x;s iz'uksa esa pkj oSdfYid mÙkjksa esa ls lgh mÙkj dk fodYi iz'u la[;k ds lkFk fy[ksaA 
 
 
 
 
 
 
 
 



   
 
SET -10  foKku  (SCIENCE) 
 
(A) 60 vad 
    HkkSfrd foKku  
¼1½ izdk'k iSnk djus okyh oLrq dks D;k dgsaxs ? 
      What  will  you call object that caused the light ?     
 (1) 
¼2½ ysal dh {kerk dk S.I- ek=d D;k gS ? 
     What is S.I. unit of power of Lens ?       (1) 
¼3½ lkekU; us= ds fy, nwj foUnq dg¡k gksrk gS ? 
     where is farpoint for normal eye ?        (1) 
¼4½ dkap dh NM+ dks js'keh oL= ds lkFk jxM+us ij NM+ ij dkSu lk vkos'k mRiUu gksrk gS ? 
      What type of charge is generated when a glass rod is rubbed with silk fur ?  (1) 
¼5½ cYc dk rUrq fdl /kkrq dk cuk gksrk gS ? 
      Which metal is used to make a filament of a bulb ?     (1) 
¼6½ vory niZ.k esa fn[kk,¡ fd  

       
 
      In concave mirror,    show that                                                                                          (2) 
       
             
¼7½ fdlh pkyd ¼rkj½ dk izfrjks/k fdu dkjdksa ij fuHkZj djrk gS ? 
      On what factors, the resistance of  a conducter depends ?    (2) 
¼8½ niZ.k ds fy, fpUgksa dh ifjikfV dks fy[saskA       
      Write convention  of sign for mirror        (3) 
¼9½ ikuh esa j[kk flDdk mBk gqvk fn[krk gS] D;ksa  ? 
   fdj.k vkjs[k ls le>k,¡A         (3) 
     Why does coin seem to be raised in water ?        
     Explain by ray diagrams. 
  ¼10½ izfrjks/kksa dk ik'oZØe la;kstu fdls dgrs gSa ?  
 izfrjks/kdksa R1, R2 rFkk R3 dks ik'oZØe esa la;ksftr djus ij lerqY; izfrjks/k dk O;atd izkIr ¼5) 
  djsaA 
   What is parallel combination of resistance ? 
   Find the expression for equivalent resistance of parallel combination of resistance  
  R1, R2 and R3 



 
 
 
 
 
 
 

cgqoSdfYid iz'u     vad& 20 
(Multiple Choice Question)                (Marks-20) 

 
(i) eksVjxkM+h dk ik'oZniZ.k gksrk gS&        (1) 
   (a) vory niZ.k  (b) mÙky niZ.k  (c) lery niZ.k  (d) dksbZ Hkh 
      Side mirror of a Motorcar is- 
     (a) Concave mirror  (b) Convex mirror  (c) plane mirror  (d) Any of these   
(ii)  20 cm Qksdl nwjh okys mÙky ysal dh {kerk gksxh&     (1) 
     (a) -5D  (b) +5D  (c) +0.5D  (d) - 0.5D 
    Power of convex lens of 20 cm focal length is   
   (a) -5D  (b) +5D  (c) +0.5D  (d) - 0.5D 
(iii) fo|qr&/kkjk dk SI ek=d D;k gS&       (1) 
    (a) dwyWEc  (b) ,sfEi;j  (c) oksYV  (d) twy       
      Which of the S.I. Unit of electric current :-   
   (a) coulomb  (b) Ampere  (c) Volt  (d) Joule 
(iv) Mk;useks ls fdl izdkj /kkjk izkIr gksrh gS ?      (1) 
     (a) fn"V  /kkjk  (b) izR;korhZ /kkjk  (c) nksuksa /kkjk  (d) bues ls dksbZ ughaA    
     Which type of current is found from Dynomo ?   
   (a) Direct Current (b) Alternating Current (c) Both Current (d) None of these. 
(v) ?kjksa esa fo|qr lIykbZ gksrk gS&         (1) 
     (a) 200 Hz,50V dk (b) 50 Hz,220V dk (c) 100 Hz, 200V dk (d) 20Hz,220V dk 
      Electric- Suply in house is 
    (a) 200 Hz, 50V (b) 50 Hz, 220V (c) 100 Hz, 200V (d) 20Hz ,220V 
(vi) LisDVªe izkIr djus ds fy, fdldk mi;ksx gksrk gS&     (1) 
    (a) dk¡p dh flYyh (b) vory niZ.k (c) mÙky ysal (d) fizTe 
     Which is used for spectrum ?   
   (a) Glass slab (b) Concave mirror (c) Convex Lens (d) Prism 
(vii) lksyj dwdj esa iz;ksx fd, tkrs gaS&       (1) 
      (a) vory niZ.k (b) mÙky niZ.k (c) lery niZ.k (d) buesa ls dksbZ ugha 
      What is used in Solar Cooker  ?   
   (a) Concave Mirror (b) Convex mirror (c) Plane mirror (d) None of these. 
 
 
 
 
 
   
 
 
 
 
 
 
 
 



 
 
 
 
 
 
  

CHEMISTRY 
 

11. eSXuhf'k;e dh ijek.kq la[;k fdruh gS ?                    (1) 
       Write down the atomic number of magnesium .  
12. ,sYdsu dk lkekU; lw= fy[ksaA               (1) 
        Write down the general formula of alkane .  
13. ck;ks xSl dk izeq[k ?kVd D;k gS ?         (1) 
      What is the main component of  bio-gas ? 
14. nzo voLFkk esa ik;h tkus okyh /kkrq dk uke fy[ksaA       (1) 
     Which metal is in liquid state at room temperature ? 
15. fojatd pw.kZ dk vkf.od lw= fy[ksaA         (1) 
     Write down the molecular formula of  bleaching powder. 
16. fdUgha nks izdkj dh jklk;fud vfHkfØ;kvksa ds uke fy[kasa ,oa ,d&,d mnkgj.k nsA   (2) 
     Write down the name of any two chemical reactions with one example for each. 
17. dkWfLVd lksMk dk vkf.od lw= fy[ksa ,oa blds ,d mi;ksx Hkh fy[ksaA     (2) 
      Write down the molecular formula of Caustic Soda and also write their on use. 
18. izdk;kZRed lewg ;k fØ;k'khy ewyd D;k gS ? nks mnkgj.k nsdj Li"V djsa A      (3) 
      What is functional group ? Explain with two examples. 
19.  esUMyhQ ds oxhZdj.k dh rhu lhekvksa dks fy[ksaA        (3) 
       Write down the three limitations of Mendeleev's classfication of elements. 
20. /kkrq vkSj v/kkrq esa ik¡p vUrj fy[ksa ftlesa rhu HkkSfrd vkSj nks jklk;fud xq.ksak dks fy[ksaA  (5) 
      Write down the five differences between metal and non metal in which three physical           
 property and two chemical property . 
 
 
   
 
 
         
             
    
   
 
 
 
 
 
   



 
 
 

Objective Questions  
  
(viii) fuEufyf[kr esa dkSu lgla;kstd ;kSfxd gS ? 
         Which one of the following is Covalent Compound ? 

(a) CH  (b) NaCl (c) KCL (d) MgCl 
(ix) vk/kqfud vkorZ lkj.kh esa oxksZa dh la[;k gksrh gS ? 
       The number of groups in the modern periodic table is  
      (a) 9  (b) 18 (c) 11 (d) 10 
(x) fuEufyf[kr es dkSu ,d HkLe gS ? 
      Which of the following is base ?  
      (a) CaO  (b) KOH (c) NaCl (d) HCl 
(xi)  -CO vfHkfØ;k'khy ewyd dks D;k dgrs gaS ? 
       (a) vEy  (b) bFkj  (c) dhVksu  (d) ,fYMgkbM 
       -CO functional group is called 
       (a) Acid (b) Ether (c) Ketone (d) Aldehyde 
(xii) /kkrq  ds lkFk vEy dh vfHkfØ;k ls lkekU;r% dkSu lh xSl fudyrh gS ? 
       Which gas is formed when a metal react with an acid ? 
       (a) H2 (b) SO2 (c) NO2 (d) Cl2 
(xiii) ;fn fdlh rRo dh ijek.kq la[;k 11 gS] rks mldh la;kstdrk D;k gksxh ? 
       What is the valency of an element whose atomic no. is 11 ? 
       (a) 1 (b) 2 (c) 3 (d) 4 
(xiv) fuEu esa ls dkSu izdk'k dh mifLFkfr esa vi?kfVr gks tkrk gS ? 
         Which of the following can be decomposed by the action of light ? 
      (a) NaCl (b)KCl (c) AgCl (d) CuCl 
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Biology (Tenth Class) Model Questions forA.Exam -2017 

Gropu A.Q 21. ATP dk iwjk uke fy[ksaA         1 
         Write the full form of ATP     
22. ikS/kksa esa ty vkSj [kfut yo.k dk laogu fdl laogu mÙkd }kjk gksrk gS ?       1 
     Which conduction tissue is responsible for conduction of water & mineals in plants   ?    
23. euq"; esa ò`Dd ,d vax gS] ;g fdl tSo&izØe ls lacaf/kr gS ?         1       
     Kidney is an organ & from which life process it is related   ?    
24. esaMy us vkuqoaf'kdh ds iz;ksx ds fy, fdl ikS/ks dks pquk ?                1 
       Which plant selected or chosen by Mendal for experiment of heredity   ?    
25. iks"k.k dh nks fof/k;k¡ dkSu&dkSu lh gS ?              1 
      What are the two methods of nutrition   ? 
26. fiÙk fdl vax }kjk L=kfor gksrk gS ? blds dk;Z D;k gaS ?           2 
      Which organ secret bile ? Write its function. 
27. fdUgha pkj ikni gkeksZu dk uke fy[sakA              2 
      Write any four plant hormanes name 
28. ok;oh; ¼vkWDlh½ ,oa vok;oh; ¼vukWDlh½ 'olu eass dksbZ rhu varj fy[ksaA      3 
    Write any  three differences between aerobic and anaerobic respiration. 
29.  :f/kj (Blood) ds dk;ksZa dks fy[ksaA           3 
    Write the functions of blood. 
30. iq"i ds vuqnS/;Z dkV dk ukekafdr fp= cuk,¡A          5 
    Draw the labelled diagram of L.S. of flower. 
 
 
Gropu B    cgq oSdfYid iz'u  (Multiple choice Questions )      
 (XV)      nks raf=dk dksf'kdk ds e/; [kkyh LFkku dks dgrs gSa& 
            (a) ,DlkWu  (b) lkbVªkWu  (c) fluSIl (d) vkosx 
(XVI)      Loiks"kh iks"k.k ds fy, vko';d gSa& 
    (a) dkcZu MkbvkWDlkbM  (b) DyksjksfQy  (c) lw;Z dhjks'kuh (d) mijksDr lHkh 
   For autotophic nutrition&necessary material is - 
    (a) Carbor dioxide(b) chlorophil (c) Sunlight (d) Above all. 
(XVII)      ijkxdks'k esa ik, tkrs gSa& 
                (a) nyiqt  (b) vaMk'k;  (c) ijkxd.k (d) L=hds'kj 
      (a) Conolla (b) Ovary (c) Pollen grains (d) gynocefum 
(XVIII)      i{kh rFkk pexknM+ ds ia[k gSa& 
         (a) letkr vax (b) vletkr vax  (c) vo'ks"kh vax (d) buesa ls dksbZ ugha 
     Wings of bind and bat are- 
     (a) Homologous  Organ (b) Analogous Organ (c) Vestigal Organ (d) None of above 
(XIX)      fuEukafdr esa dkSu mRiknd gS& 
    (a) liZ (b) ?kkl (c) esa<+d (d) 'ksj 
`      Which one is producer as given below:- 
     (a) Snake (b) Grass  (c) Frog (d) Lion 
(XX)      ikS/kksa esa xSlksa ds vknku&iznku ds fy, gksrs gSA 
              (a) tM+ (b) ja/kz (c) ruk (d) Qwy 
      In plants which is present for gases exchange. 
     (a) Root (b) Stomata  (c) Stem (d) Flower 
 
   
 
 
                            



iz'uksÙkj ¼HkkSfrd foKku½ 
 

(1)   izdk'k L=ksr 
¼2½  MkW;IVj    
¼3½  vUur ij   
¼4½  /ku vkos'k  
¼5½  VaxLVu   
(6) 

      
 
 
 fn, x, fdj.k vkjs[k esa MN ,d vory niZ.k gS ftlesa fdj.k AB niZ.k ls ijkofrZr gksdj eq[; 
v{k dks F ij dkVrh gSA   
  PF=Qksdl nwjh      (f) 
  PC=oØrk f=T;k   (R) 
fp=kuqlkj] vkiru <ABC += ijkorZu <CAB 
 AB    CD rFkk BC  mudks dkVus okyh fr;Zd js[kk gS]  
  vr% ,dkarj <ABC = <BCP=2 
  vr%   BCF ,d lef}ckgq f=Hkqt gksxk  
  ftlesa] BC=CT 
  ,oa <BCF=<CBF 
       foUnq B ,P foUnq ds lfUudV gS]  
  vr% BF=PF 
  ,oa CF=PF 
vr,o] CP =CF+PF 
      =2PF 
              2

CPPF   
 
 
 vFkkZr~     
 
 
 



 
 
 
 
¼7½   fdlh pkyd dk izfrjks/k fuEu ckrksa ij fuHkj djrkgS%&    
  (i) rkj dh yEckbZ  
  (ii) rkj ds vuqizLFk dkV dk {ks=Qy 
  (iii) rkj ds inkFkZ dh izd`f̀r ijA 
¼8½ lHkh nwfj;ka /kzqo (P) ls ekih tkrh gSaA vkifrr fdj.k dh fn'kk esa ekih xbZ nwfj;ka /kukRed ,oa 
 mldh foijhr fn'kk esa ekih xbZ nwfj;ka +_.kkRed gksrh gSaA 
 
 
 
 
¼9½  

  
 
fn, x, fdj.k vkjs[k esa Xykl ds isans esa j[ks flDdk dh fLFkfr P ls fdj.ksa PA ,oa PB ikuh dh lrg 
ij vk¡[kksa ls ns[kus ds nkSjku vkifrr gksrh gSaA l?ku ek/;e ¼ikuh½ ls fojy ek/;e ¼gok½ esa tkus ij 
fdj.ksa AC ,oa BD viofrZr gksrh gSaA viofrZr fdj.ksa dk feyu fcUnq P gksrh gSA  
 bl izdkj] ikuh esa j[kk flDdk lrg ls mBk gqvk fn[krk gSA 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
¼10½ ik'oZØe la;kstu&tc dbZ izfrjks/kd bl rjg tksM+s tk;a fd gjsd ds nksuksa NksVksa ds chp foHkokarj 
leku gksa] rks izfrjks/kdksa ds bl la;kstu dks ik'oZØe dgk tkrk gSA 
 

 
 
fn, x, fp= esa rhu izfrjks/kd R1, R2, R3 dks fcUnqvksa A ,oa B ds chp esa ik'oZØe esa la;ksftr fd;k x;k 
gSA 
 fcUnq A ls izos'k djus okyh /kkjk I rhu Hkkxksa esa caV tkrh gSA 
   /kkjk I1, I2, ,oa  I3  Øe'k% izfrjks/kdksa R1, R2, ,oa R3  es izokfgr gksrh gSaA 
   vr% a I= I1, + I2,+ I3  ------------------(i) 

 fcUnq A ,oa B ds chp foHkokarj (V) gj rkj ds rjQ ls x.kuk djus ij leku gS] 

                           
1

1 R
VI     --------------------(ii) 

 

          
2

2 R
VI     --------------------(iii) 

 
            

3
3 R

VI   --------------------(iv) 
 
;fn bu rkhuksa izfrjks/kdksa ds ik'oZØe la;kstu dk lerqY; izfrjks/k R gks] rks 
     V=IR 
   vFkkZr~ I= R

V       ----------------------(v) 
vr% lehdj.k (ii) , (iii) , (iv) ,oa  (v) dk lehdj.k (i) esa iz;ksx djus ij&- 
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         cgqoSdfYid iz'u ¼HkkSfrd foKku½  
iz'uksÙkj 
 
(i)     (b)   mÙky niZ.k 
(ii)    (b)  +5D 
(iii)   (b)  ,Eih;j 
(iv)   (a) fn"V /kkjk 
(v)    (b) 50Hz,220v dk 
(vi)   (d)  fizTe 
(vii)  (a) voÙky niZ.k 
           
                                      



                          jlk;u foKku 
11- eSXuhf'k;e dh ijek.kq la[;k 12 gSA 
12- ,sYdsu dk lkekU; lw= CnH2n+2 gSA 
13- CH4 ehFksu 
14- ikjk 
15- CaoCl2 
16- ¼1½    la;kstu vfHkfØ;k 
 mnkgj.k&&&&&dks;ys dk ngu 
    C(S)+O2 (g) CO2 (g) 
    ¼2½   fu;kstu vfHkfØ;k  

 mnkgj.k&&&& CaCO3(S)  CaO(S)+CO2 (g) 
   pwuk iRFkj 
17-  dkWfLVd lksMk&&&&&&NaOH 
   mi;ksx&&&&&lkcqu rFkk viektZd ds mRiknu esaA 
18-  izdk;kZRed lewg ;k fØ;k'khy ewyd&&&&&fo"ke ijek.kq ;k muds lewg tk gkbMªksdkcZu J``a[kyk esa 
,d ;k vf/kd gkbMªkstu ijek.kqvksa dks izfrLFkkfir dj ,d u;s ;kSfxd dk fuekZ.k djrs gSa] izdk;kZRed lewg 
;k fØ;k'khy ewyd dgykrs gSaA 
   mnkgj.k&&&&1- gkbMªkWfDly xzqi &&&&& (-OH) 
          2- dkcksZfDlfyd xzqi &&&&(-COOH) 
19- esaMyhQ dh vkorZ lkj.kh dh rhu lhek,a&& 
      (i)   gkbMªkstu dk LFkku fuf'pr u gksuk&&gkbMªkstu dk bysDVªkWfud foU;kl {kkj /kkrqvksa tSlk     
gksrk gSA 
 H= 1 
 Li= 2, 1 
 Na=2,8,1 
       gkbMªkstu gSykstu dh rjg f}ijek.kqd v.kq ,oa _.kk;u cukrk gSA 
      (ii)   vkorZ fu;e dk mYya?ku&vkorZ lkj.kh iw.kZr% vkorZ fu;e dk ikyu ugha djrkA 
   vf/kd ijek.kq Hkkj okys rRo de Hkkj okys rRo ls igys j[ks x,A 
       (iii)  esaMyhQ dh vkorZ lkj.kh esa leLFkkfudksa dk dksbZ fuf'pr LFkku ugha FkkA 
 
20-   
HkkSfrd   /kkrq        v/kkrq 
        1- fo|qr vkSj rki ds lqpkyd gksrs gSA       fo|qr vkSj rki ds dqpkyd gksrs gSA 
        2- /kkrq rU; vkSj vk?kkro/;Z gksrs gSA       v/kkrq Hkaxqj gksrs gSA 
  3-buesa  /kkfRod ped gksrh gSA        buesa ped ugha gksrh gSA 
jklk;fud 
 1- buesa bysDVªkWu [kksus dh izò`fr gksrh gSA      buesa bysDVªkWu ikus dh izò`fr gksrh gSA 
 2- /kkrq ds vkWDlkbM HkLeh; gksrs gSA       v/kkrqvksa ds vkWDlkbM vEyh; gksrs gSaA 
   ;g ty esa ?kqy dj {kkj cukrs gSaA       ;s ty esa ?kqydj vEy cukrs gSaA 
 Na2O+H2O 2NaOH        CO2+H2O  H2CO3 
 /kkrq vkWDlkbM          {kkj    v/kkrq vkWDlkbM         vEy 
 
 
 
 
 
 



 
cgqoSdfYid iz'u ¼jlk;u foKku½ 

1x7 
iz'uksÙkj 
      (viii)      (a) 
          (ix)        (b) 
          (x)         (b) 
          (xi)        (c) 
          (xii)       (a) 
         (xiii)       (a) 
         (xiv)       (c) 
 
 
  



tho foKku ¼n'ke oxZ½ ekWMy iz'u okf"kZd ijh{kk&2017 
    Set -1 dk mÙkj 
21- ,Msuksflu VªkbZ QkWLQsV 
22- ikS/ksak esa ty vkSj [kfut yo.k dk laogu tkbye laogu mÙkd }kjk gksrk gSA 
23- euq"; esa o`D̀d mRltZu tSo&izØe ls lacaaf/kr gSA 
24- esaMy us vkuqoaf'kdh ds iz;ksx ds fy, eVj ds ikS/ks dks pqukA 
25- iks"k.k dh nks fof/k;k¡ Loiks"k.k vkSj ijiks"k.k gSA 
26- fiÙk ;d`r̀ ¼fyoj½ }kjk L=kfor gksrk gS tks fd ikpu ra= ls tqM+k vax gSA 
   fiÙk vkek'k; ls xzg.kh esa vk, vEyh; dkbZe dh vEyh;rk dks [kRe dj {kkjh; 
cukrk gSA ;g Hkkstu esa ekStwn olk dk fo[kaMu Hkh djrk gS rkfd vkxs olk dks rksM+us okys ,atkbe ml ij 
vklkuh ls fØ;k dj ldsaA 
27- pkj ikni gkeksZu ds uke fuEufyf[kr gS& 
     (a) vkWfDtu    (b) ftcjsfyUl         (c) lkbVksdkbfuu      (d) ,fFkyhuA 
 (Oauxin)          (Gibberellins)                 (Cytokinin)         (Ethylene) 
28- ok;oh; vkSj vok;oh; 'olu esa fuEufyf[kr varj gSa& 
        ok;oh; 'olu          vok;oh; 'olu 
aa.   ok;oh; 'olu vkWDlhtu dh mifLFkr esa gksrk gSA     vok;oh; 'olu vkWDlhtu dh vuqifLFkfr   
                 eas  gksrk gSA  
b.  blesa Xywdkst dk iw.kZ vkWDlh&dj.k gksrk gSA          blesa Xywdkst dk vkaf'kd vkWDlhdj.k gksrk gSA 
c.  ok;oh; 'olu esa iw.kZ ATP ds :i esa ÅtkZ T;knk      vok;oh; 'olu esa ATP ds :i esa cgqr de             
 eqDr gksrh gSA          ÅtkZ eqDr gksrh gSA 
 
29- jDr ds dk;Z& 
 a.   jDr ;k [kwu ips Hkkstu] var%L=koh xzafFk;ksa ls L=kfor gkeksZu dk ifjogu 'kjhj ds fofHkUu Hkkxksa esa 
djrk gSA 
 b.     'kjhj ds rkieku dks cuk, j[kus esa enn djrk gSA 
 c.   ;g vkWDlhtu dks 'kjhj ds fofHkUu dksf'kdkvksa rd igq¡pkus ,oa CO2 dks fudkyus es enn djrk gSA            
d.     ;g 'kjhj esa fofHkUu fØ;kvksa esa cus mRlthZ inkFkZ dks fudkyus es enn djrk gSA 
 e.   IysVysV~~l jDr dks cgus ls cpkrk gSA 
 f.    jDr esa ekStwn W.B.C. 'kjhj dks jksxksa ls yM+us dh {kerk iznku djrk gSA 
30-   iq"i ds vuqnS?;Z dkV dk ukekafdr fp= fuEu gS& 
       

  



             
           L.S. of Flower 
cgqoSdfYid   iq"i dk vuqnS/;Z dkV 
Group B.    XV    (c)  fluSIl 
      XVI    (d)  mijksDr lHkh 
      XVII   (c)  ijkxd.k 
            XVII     (a) letkr vax 
      XIX      (b)  ?kkl 
      XX    (b)  ja/kz 
 


